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QUESTION 1

Using the "Tax System" specifcaton scenario as described above, using boundary value analysis, which would be the
most interestng test set to explicitly test one single boundary value as defned in the "Tax System" specifcaton?

Test set {i)

Civil Status Salary | Number of Children

.T:ESEIE-I‘ tﬁji

Morried € 20,000 dq
Not Married | € 22,000 | 3
Married | € 18.000 | 2

Civil Status | Salary | Number of Children

Not Married | € 19,000 | 8

Not Married | € 20.000 | 6

Married E 50,000 4
Test set (iii)

Test set !'J:J

Civil Status | Salary | Number of Children

Morried | €.20,000 10
Nat Married | € 22.000 | 5
Nat Married | € 20001 o

Civil Status | Salary " Number of Children

| Married € 18.000

Not Married | € 22.000 1
Not Married | € 18.000 2
3

[K3] 3 credits
A. (i)

B. (ii)

C. (iii

D. (iv)

Correct Answer: D

QUESTION 2
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A specifcaton states: "If the fossil is Jurassic in origin then it must be catalogued under Mesozoic post Triassic and
cross referred to politc limestone. If it is a tooth, then it must be catalogued under Dental remains. If the fossil is both
Jurassic in origin and a tooth it will be catalogued under Mesozoic post Triassic and cross referred to politc limestone
only. " The tester analyses this for decision table testng and fnds the following conditons and actons: C1: Jurassic C2:
tooth Al: Catalogue as Mesozoic post Triassic A2: Cross refer to politc limestone A3: Catalogue as

Dental remains How many test cases will a collapsed decision table have? [K3] 2 credits

A2

B.3

C. 4

D.6

Correct Answer: B

QUESTION 3

Analyzing the requirement, "The system shall allow cash advances of at least 200 Euros for all supported credit cards.
The correct list of credit cards is American Express, Diners, VISA, Mastercard and Eurocard.” There are arguments to
be made for several test design techniques. Which of the following test design techniques is LEAST likely to be used for
identfying test cases for the requirement? [K4] 3 credits

A. Boundary value analysis

B. Equivalence Parttoning

C. Classifcaton Tree Method

D. State Transiton Testng

Correct Answer: D

QUESTION 4

Based on the classifcaton tree show below, how many test cases are required using the classifcaton tree method?
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Colour Shape
Red Blue Green Triangle Circle

Size of triangle
..—-"-'-_ _--"‘--
Small Large

[K3] 2 credits B. 3
C.4
D.6

Correct Answer: B

QUESTION 5

You are working as a tester on a project to develop a point-of-sales system for grocery stores. Which of the following is
a product risk that could be identfed for such a system? [K3] 2 credits

A. The arrival of a more reliable competng product on the market

B. Delivery of an incomplete test release to the frst cycle of system test
C. An excessively high number of defect fxes fail during re-testng

D. Failure to accept allowed credit cards

Correct Answer: D
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